bYuandong
®
Hawkrs

Pneumatic Products




COMPANY PROFILE
AT

Yuandong-hawks are manufacturer and exporter, specialized in aluminum alloy
casting since 1989;now developed kinds of pneumatic actuator and cylinder etc.

Our headquarter covering the area of 18,000 square meters; include the
workshops with a floor space of 30, 000 square meters, and employee is about 300
persons.

Current main facilities include the non-ferrous smelting electric furnace 3sets, heat
treatment 6sets, shot blasting 2sets, vibration 2sets, machine center 5sets, CNC
12sets, lathes 30sets, milling 50sets, metallic gravity casting 9sets, die casting 6sets,
ultrasonic cleaner 3sets, polisher 10sets, painting line 300 meters, assembly line
6sets, etc.

Yuandong-hawks main products are automatic equipments; includ
actuators, pneumatic cylinders, air filter, regulator and lubricator ombinations,
solenoid valves, pulse valves, aluminum alloy castings, gearbox drivérs, levers, limit
switches, electro pneumatic positioners, butterfly valves, ball valves, DC brushed and
brushless motor, planetary gear reduce, AC synchronous motor etc.

Yuandong-hawks obtained ISO 9001 quality sy

pneumatic

stability.
Now some factories and companies had combj g andong group,

members include:
Fenghua Yuandong Auto Parts Co., Ltd.

r cooperative partner and supporter
AeEHEMH. NEFTELEFSHNITHR, S

i X5 B ANE A R

S AT .\ E% 18000:]: ooolﬁﬂc, R T Z4300A .
=RCR 6F AHl2g, #RAEH2E, MIB05E, HiE

IR a ,E%M%uﬁﬁﬁ%ﬁmﬁ,M%m

] ; B ; ﬁIz SEAIETH, BEE, KhE, {8

A1 W 17 %E 150 2% 1, Tki®l, BEREBRIMER BN, 1TEBEES

3T HRNIS TR A 3R 4 i N EPRB R FIES, RIE~RAF SREMMEEMTEE .

WE, THEL o 7 H YT BiE:

=TS T & IR A

2= 1L T b e i 5PR 2 8

EUTEBERARAA

FUTHEBNMFEFRL A

FUTERMUNBFIRAF

FUTRENENGARLA

TREMBEKRELSHARR A L )
L BN FERAMEERNTS, BHEEERTS, AEERMHE, BINNFREARFNE
2, FEHRETAZHERANEE, EZF— X EEMEZEMNETR.

KMEW%MEMMIF,%%mﬁ@i¢ﬁﬁwﬂm%¢MﬁﬂiE%

Http://www.cn-hawks.com




Factory Building
WRE BB

Machining Workshop
M0 T % i)

Testing Tabl
Painting Line Assembly Workshop e;ﬁl%ﬁ]éa 3
R % e )

Http://www.cn-hawks.com







1.Pneumatic Execution Elements...............

SHMITTH

TS EEE T

3.Air Source Treatment Unitg
SR TR T




REL R B H

Pneumatic Cylinder Inner Structure

SC SUZAJ%I/ Series T4/ Bearing
HI 55 /Front Cover THEZ T4/ Piston Rod Seal

i 25 % $1 Bl / End|cap Seal

Anti-fintion Ring
f& 35 /Back Cover

SI%&%l/ Series

15 Back Cover

DNC#3%l/ Series

2£ /Back Cover

MIZ%/ Se MAL%3%I/ Series

iﬁ%%g%ﬂﬁ/End cap Seal
TEEZ$4/Piston Rod Seal

Rl 2/ Front Cover %%/ Bearing
J5 2 /Back Cover

HI 55/ Front Cover T %/ Bearing

f5 2 /Back Cover

T W

i @

b )

Http://www.cn-hawks.com




SCR A sme=a

SC Seri

es Standard Cylinder

Ordering Code

i SC D -50 x5 -25 - S - LB-MT
- /,4' SCUmARE  WERS
D fiakes 1718 SUJATIAfTIE  S: MiEEA
| - Cylinder Stroke  SCJ adjustable =EH: KL
Bore stroke type Magnet Code
32 40 SUJ adjustable S: attach magn
50 63 stroke type Blank: not attgéh magnet
80 100
125 160
200 250
320

[E 2R/ Fixed Type

Z=H: REEFHE
D: WimE A

J: WEATIRTIZEY
Blank: Standard Double Action
D: Double-shaft Double Action
J: Double-shaft and adjusta

FB: Back Cover Fixed Type
(Rear fange type)

AN

stroke type

BS

SC: fufF=

FEEER GH
ck Cover Fixed

SU: AR
Type
SC: Pull Rod_ Typ

(double Earrin

TC: HEHEER

kR RE 2 A Sensor

‘f
PM&E
 ,%
SCkR
¢

1712 BE# K/ Fixed Type BARIEEK A/ Sensor
Stroke ZH:EAA/ Blank: basic type XG-218!/ Type
s - B
- LB: RIfEEEE - :35
L1 LB:Front and back fixed type@ >’
Cylinder @7
3‘3;’3 40 FA:BTAEER @1£2)
50 63 BmEKS FA: I;_r(l\t Cﬁ\;tzrol—:__l)‘(eiType (Front fange type) PIkE/ Clamp
g0 100 S EE B [fl,é 5 4 Tyre G0 e
. ack Cover Fixe: e @ ) =
125 160 S:MHAE Rear fande s = .
200 Magnet Code (Rear fange type) L
Blank: Not e (&
attach magnet CA:EmEmi(iﬂlW) Q
S: Attach C(Q l?acI:Ek va;er Fixed Type Q =
ingle Earring &
EITI magnet
SI:1S0643 1R shE! REEEE WEIF) ﬁ i
Series Code CB Back Cover Fixed Type
S1:1S06431 Standard Double (double Earring)
Action Type

Http://www.cn-hawks.com

YB: R X EEER
YB: Back Cover Rear Hinge
Fixed Type




Ml / MSI / MTI R 5l isosa32F4mkoRa

Ml / MSI / MTI Series 1SO6432 Stainless Steel Mini Cylinder
Ordering Code

Mi 10 X

712
Stroke

ke

Cylinder Bore
16

20

25

32

40

BS

MI: RS E & FHE)
MSI: RS ET G EhIR 1 AL
MTI: SRIRSET @ 35N
Series Code

MI: Mini Cylinder
(Double Action)

MSI: Mini Cylinder
(Sigle Action Extrusion
MTI: Mini Cylinder
(Single Action Dydwingcin

DNC % Hllisos4314%)

DNC Series 1506431 Standard Squareness

rderi Code

‘ FERR
HAKS =

RN FR EE T
Sensor fastening

s,

Y

Fixed Type

SDB: RHEER
SDB: Back Covegr .
Swinging Typ!

- = LB MT
S2: WEEF B4R E§/ Sensor
Stroke K2: IR XG-308!/ Type
= Lo K3: B AR5
FARES HMaRS .y 8
. K5 : SMRAESREL
p Cylinder Magnet Code Lo
P . b= M K8: <& EAF
Bore =R vy )
32 A BT S2: Double Piston Rod
: " K2: Lengthen Out Screw
40 Blank: Standard k3. Front In Screw Thread
50 Type K5: Out Standard Screw Thread
63 A: Inside magnet K8: Lengthen Piston Rod
80
100 ElE 83/ Fixed Type
125 2 Z=H:#AE/ Blank: basic type = _
Buffer LB: HifEEER |
=H:E R LB: Front And Back Fixed Type E
PPV:#4&iH
DNC: E AR Blank: Non Buffer FA: BIZEE 2R EriE=)
HNC : % [ ) B2 PPV: Attach Buffer FA: Front Cover Fixed Type (Front fange type)

FNC:RifE%=

ZNCF : fifa4htH
ZNCM: (8] 4§

SNCB: B EEE

SNCL: X EFE

DNC: Fixed Type

HNC: Axis Direction Foot Base
FNC: Front and Back Flange
ZNCF: Front and Back Axis Pin
ZNCM: Middle Axis Pin
SNCB: Single Earring Base
SNCL: Double Earring Base

FB: REEEE (FE=)
FB: Back Cover Fixed Type &
(Rear fange type)

P

-

CA: FEEER G HIR)
CA: Back Cover Fixed Type é
(Single Earring)

CB: FaEER (WEHIR)
CB: Back Cover Fixed Type
(double Earring)

YB: 5 3 S EE E A
YB: Back Cover Rear
Hinge Fixed Type

Http://www.cn-hawks.com




RE T RIREL

Aluminum Alloy Mini Cylinder

HR ST
Thin Type Cylinder

Http://www.cn-hawks.com

Ordering Code

MAL - CA 20 x50 - 25 - § - LB -MT
ety Srok Sh R
i € MALTBEE  yagnet Code
U:FRE MALJ adjustable g attach magnet
pack Cover Wvpe stroke type Blank: Not attach
Blank: Fishtail type ‘t
CM: Rounded type . magne
U: Horizontal type ﬂ{‘_‘ |

Cylinder

= Bore EZEA R Fixed Type

ithey P y . n

MAL : & 53 16 Eg%%zl%%;zlank Basic Type

MSAL : 855 20 CAREEE A

) - 25 LB: Front And Back
MALD: Wi 5% 32 Fixed Type -
MALJ : S 4h AT A5 40

Model

. FA: gz ElEE
MAL: lDoybIe Act|9n FA: Front Cover
MSAL: Single Action Fixed Type

MALD: Double-shaft Double
Actiion

MALJ: Double-shaft and
adjust able stroke type

Ordering Code

SDA - 20

kR #R2EEY/Sensor

S /Type S: XG-112!/Type
SDA: EzhE! =8 M
SSA: B A Magnet Code #1/Cog Type
STA: a5 NE TH:RRL
SDAD : XV.41% Blank: Internal Thread
SDA: B: JMZLL
SA: Single Action Extrusien B: External Thread
STA: Single Action Drawing-in N: T4
SDAD: Double-shaft Type N: No Thread
dering Code
- 20 X 50 - S
HI1E 1718 WaERS
RIIRS Cylinder Bore Stroke S:MiEEA
TN: W E E 10 16 =H:AHEA
Series Code 20 25 Magnet Code
TN: Double-shaft Double 32 S: attach magnet

Action Blank: not attach magnet




HKA 7R E X =um

HK Series Spacer Sleeve Solenoid Valves

R : 5416061
Spool: material aluminum 6061

BB M AL T BRI AR
I-ring: material NBR

BHeMPEMR: RRE

3 White case: Material POM

1. Reduce I-ring attrition
2. A little bit dustproof
3. 30,000,000 times life

-5- Http://www.cn-hawks.com




HK%%3101 =@

HK Series Spacer Sleeve Solenoid Valves

Ordering Code /\

HK3 101 - A - 06 - B - ACR0V -\l
MBI AR =
HK3%7I Specifcation Code
Specifcation SiEiE
Code Pneumatic
HK3 Series Control Valve
LB RALEL
101: B kAL E
200 XKML E

Nkt
=HARERFR
G3l&%&RL%E
L8Rk E
Wiring Form
Blank: Standard
Connector

G: Lead Wire
Type Coil

L: With Lighting
Connector Coil

303C A= LA iR
303E Attt =X A ik 8
303P A [ =, B # 1iF)
Coil and Places

101: Single Coil

HKZ %4101

cer Sleeye Solenoid Valves

08 - B - AC220V - L

R MARKED #EEORE  BRER TR RLE

HK4 &5l Specifcation Code Port Size ZH:LiEE Standard Voltage
Specifcation SIEiR 06:1/8" B:Spacer Sleeve  DC12V
Code Pneumatic 08:1/4" Blank: Normal TypeDC24V
HK4 Series BRI Control Valve AC24V
101 KT E ACT10V
200 T kML E AC220V TN
303C FER A et
303E it A ] EE IR
N o G3l%&AL&E
303P I E R H R e g
Coil and Places L'f",rémn'&
101: Single Coil (5/2) ‘é‘:;'r']:?’ ;;’r:gar ;
200: Double Coil (5/2) X
303C: Center Closed Type Solenoid Valve (5/3) Connector )
303E: Center Exhaust Type Solenoid Valve (5/3) G: Lead_ Wire
Type Coil

303P: Center P T Solenoid Val 5/3
enter Pressure Type Solenoid Valve (5/3) L: With Lighting

Connector Coil

Http://www.cn-hawks.com




HK%%5101 @

HK Series Spacer Sleeve Solenoid Valves

Ordering Code

HK5 101 A - 10 - B - AC220V -
AR MBS
HK5 %7l
Specifcation Code SR
HK 5 Series Pneumati
EAEh AE
101 e s OOV
200 XKML E
303C A= LA iR

303E Attt =X A ik %)
303P A E 3 A H 8
Coil and Places

G

HK%%16101 =

HK Series Spacer Sleeve” Solenoid Valves

L:
Wiring Form
Blank: Standard
Connector

P
T ATEE

: Lead Wire

Type Coil
L:
Connector Coil

With Lighting

15 - B - AC220vVv - L
MRS BEOE [7:3::05
Specifcation Code Port Size Standard Voltage
Specifcation Code S 15:1/2" bC12v
HK 6 Series Pneumatic DC24V
Control Valve AC24V
AC110V
B R AC220V
101 BN E _
200 AR & B B
303C 53t AR =h: iR SEARETR
303E = B B:Spacer Sleeve G-%I;*Z—it*%l%l
303P -t fE 5t H B Blank: Normal Type L%#—Eﬁtd&f&@
Coil and Places Wiring Fo;m
101: Single Coil (5/2) Blank: standard
200: Double Coil (5/2) Connector
303C: Center Closed Type Solenoid Valve (5/3) G: Lead Wire
303E: Center Exhaust Type Solenoid Valve (5/3) Type Coil

303P: Center Pressure Type Solenoid Valve (5/3)

L: With Lighting
Connector Coil

Http://www.cn-hawks.com




H K 4601 3 5l gt

H K 3601 Series Spacer Sleeve Solenoid Valve

Ordering Code
HK4 601 - 08 - B - NO- C2>€Q/— L
| |

B BEOe

HK3&51 Port Size

HK4 &%

H K5 %5

H K6 &%

Specifcation Code

H K3 Series

HK4 Series  ZERMH

HK5 Series ~ 601T:BE—{I=i#

H K6 Series 600 FWE =@
Coil and Places

601: Single Operated

600: Double Opera

BEERR

A AR TR
G3l&RL&E
LR AT B
Wiring Form
Blank: Standard
Three-way Normal connector

G: Lead Wire
NG Tworposition Three-way Normal Type Coil
Open\fype L: With Lighting

Connector Coil

amur Valve

Ordering Code

H K4 101 M - 08 B - AC220V L

FRERE
Standard Voltage
e

BB Namur EEOE AC24Y EEER
H K473 Port Size ACT1OV = A AR TR
H K5 &% 08: 1/4" AC220V G3l&RL&E
H K6 &% LB RALE 10: /8" LimiemAT 4k
Specifcation 101 BIE L HIE 15: 12" BEES Wiring Form
Code 200 WE ML HA ’ o EEE Blank: Standard
H K4 Series Coil and Places B:Spacer Sleeve Connector
H K5 Series 101: Single Operated (5/2) Blank: Normal Type G: Lead Wire
H K6 Series 200: Double Operated (5/2) Type Coil

L: With Lighting
Connector Coil

Http://www.cn-hawks.com




HK4101H R % smm

HK4101H Series Spacer Sleeve Hand-pull Valve

Ordering Code

AR
HK4 #51 F IR
HK5 &7 Hand-pull
gschczution (LB
Code ;138;, ;?E}i’:gg Port Size

i =l 08: 1/4" N & 1
:Eg Serlles Position & Way No. 10: 358" S} %Em

Se”.es 101: Single Operated (5/ 15: 172" : Spring Return
HK6 Series . :
303: Single ‘Qperated (5/3)

- S
3 g
‘ = Hand-draw BRERX
H K4 271 =H:Ema
‘ H K5 &% B:Spacer Sleeve
H K6 &% LB BEOR Blank: Normal Type
Specifcation Code 101 BN HE Port Size
v HK3 Series 601: 8 =18 06:1/8" " S HEEH
H K4 Series Position & Way No. 08:1/4" S: Spring Return
H K5 Series 101: Single Operated (5/2) 10: 3/8"
H K6 Series 601: Single Operated (3/2) 15:1/2"

Http://www.cn-hawks.com




HK531% 51 18 & 10 ssgm

Hk531 Series Spacer Sleeve Solenoid Valve

Ordering Code

523C, 533CH3T= FHkHE
523E, 533EdHtt X Ak T
523P 533P i [E 3 B HA T
Coil and Places

321, 331: Single Coil (3/
322, 332: Double Coil
521, 531:Single Coil
521, 531: Double Co
523C, 533C:

HK R 5l=zm®

HK Series Mechanical Manual Valve

HK - 531 - 08 B —/ AC220V
=5 B RALE EEOR fRE B
HKPC 321, 3MBIWMALE > Voltage
322, 3B3BWEWLE DC12
521, 531EILWMALE DC24
522, 53ZWKMLE AC24V
AC110V

AC220V

oposition Three-way (3/2)
-position Three-way ( 3/2)
~~Two-position Five-way (5/2)
N: Two-position Five-way (5/2)

HKZR % =58

H K Series Mechanical Hand-draw Valve

Ordering Code

6
HV F 3R BEORE
HV: Manual Valve Port Size
6:1/8"
8:1/4”

6

S

522N:Z [ F il
532N: =L A il
322N: Two-position Three-way (3/2)
332N: Two-position Three-way ( 3/2)

522N: Two-position Five-way (5/2)
532N: Two-position Five-way (5/2)

)

L

Http://www.cn-hawks.com

HK - 322N - R
|@h 322N: =38 RAF L7
PC i R: Hand-draw Valve
L .
e

BEORE
Port Size
6: 1/8”
8: 1/4”

|

S:BEIEM
S: Spring Return

_10_




HKR % =mm

HK Series Hand—pull Valve

Ordering Code

HK - 522N - H - /6 8

" = S:BEEM
5 PC
-
a. ‘
. -

HK & 5l s

H K Series Mechanical Valve

- A
MV #14#i8 A:ABY/ Type
pralivE iy ;) MV: Mechanical Valve
: Two-position Three-way (3/2)
22N: Two—position Five-way (5/2)
Ordering Code
HK - 322N - MV - B
- | | | |
it 322N =% MV A4 8 B:BE!/ Type

PC 322N: Two-position MV: Mechanical Valve
Three-way (3/2)

-11- Http://www.cn-hawks.com




HK R 5l i

HK Series Machanical Valve

Ordering Code

HK - 322N - MV - C
S5 322N: I =58 MV #L#i8 C:CEL/ Type
PC 322N: Two-position MV: Mechanical Valve

Three-way (3/2)

HK R 5l s

HK Series Mechanical Valve

Ordering Cod

3220\ - MV /- D
[ O |

22N (I =j@
N: Two-—position V: Mechanical Valve

D:DE!/ Type

HK Series\Control Valve

Ordering Code

HK - 02

Ex ez BEEOR
Series Code Port Size
HK &% 01: G1/8"
HK Series 02: G1/4"
03: G3/8”
04: G1/2”

Http://www.c




-13-

HK &5l =1

HK Series Mechanical Hand-draw Valve

Ordering Code

- HK

522N - HDV

=S
‘ HKPC

F

Hand-switching Valve

522N —{iIFif
522N: Two-position Five-way (5/2)

HDV FHL 18
HDV: Hand-dr,

BEEOR
Port Size

rdering Co

AHV: F4518
4HV: Hand-switching Valve 300: Three-position Four-way

VAN
4RV 200 08 - T
IEH BEEOE BERR
Number of Places Joint Pipe Code Install Type
200: =f7MHiE 08: PT1/4 =H: BRRE
AR T 300: =& 10: PT3/8 T: ERRE
pecifcation Code 400: ={MiE 15: PT1/2 Blank: Body of Valve Install

200: Three—position Four-way T: Panel Install

400: Three-position Four-way

Http://www.cn-hawks.com




F

Hand-switching Valve

Ordering Code /\

. HV -
v Mg
(\ — l)--- Fi i2e
. F Specifcation Code :
: - —lﬁ' Hand-switching Valve
- 04: G1/2"

F iR

Hand-pull Valve

TSV86 520 2 - M  Tsves 32 2 - M
ERAKRS BRI BEEOE ERRS
Hand-pull Valve MAESER  FEE Port Size MALEER
SHESMR Specifcation Code 1: G1/8" SHESHR
Type Code Hand-pull Valve 2:G1/4" Type Code
M: Machinery M: Machinery
Locking Type Locking Type
%1 S: Spring Return SIEH S: Spring
Position and Way NO.  Type =@ Reset Type
Two-position Five-way Position and Way NO.

Two-position Three-way

F iR

Hand-pull Valve

Ordering Code

4H 210 - 08 - S
Mg
Specifcation Code
HEFY/ series RIS alalE
Series Code Port Size
210 (5/2) 06: G1/8"
310 (5/2) 08: G1/4"
410 (5/2) 10: G3/8"
230 (5/3) 15: G1/2" S: BESMN
330 (5/3) S: Spring Return
430 (5/3)

Http://www.cn-hawks.com

_14_




FoI

Manual Valve

Ordering Code

SH 402

BS BEEOR

Type Port Size
402: G1/4"
403: G3/8"

R s v

Foot Valve

o 402 - s

EEOEZ zH: BER
Port Size S: WESMRX
402: G1/4" Black: Immobility Type

403: G3/8" S: Spring Reset Type




i B

Foot Valve

Ordering Code

4F 2 10 - 08 L

MARICES

’j Specifcation Code
4 4F (I BRI ——_— SO0%
4F: Two-position Series Na Port Size

Five-way Foot Valve

2: 20GR%I
2: 200 Series

08: G1/4”

“r, of Places
B B

Double—positio

4FM 2

MAERED

& Specifcation Code '%’5'_”’@% BARS
HK322N-FV AFM = (IR AR Series No. Type Code
3FM =Bk 2: 206R7% A ARAER
4FM: th:p 200 Series 10: B E M5: M5 L: BB
10: Single-head 06: PT1/8 Blank: Standard type
Double-position 08: PT1/4 L: With lock
AR
Specifcation Code ition and Way Number
FV: B 8
FV: Foot Valve
23: Two-position Three-way
25: Two-position Four-way
ML
&
Mechanical Valv
Ordering Code
EOO#E %243/ Button Type
Port Size = H & AH/ Blank: Basic Type
R 2: G1/4” R: %48/ Roller Type
fﬁ;ﬁgﬂ TB: 2 EHH/ Selective Knob
Specifcation Code LB: fn4<AiEs/ Strengthened Knob
. e
Mechanical Valve Position and Way NO. PB: XEIZ %A/ Large Round Bution

PP: FFEZ %4/ Plat Round Button
PPL: EZ#%4$/ Convex Round Button
EB: ##iA%H/ With Lock Button

32: Two-position Three-way
52: Two-position Five-way

Http://www.cn-hawks.com




-17-

AL

Mechanical Valve

Ordering Code

JM - 05

MIERED

LT R

Specifcation Code

Stop- type Mechanical Valve

LR

Machanical Valve

Ordering.Code

ZHIfi2/Button Typé

")

on#&
Port Size
1: G1/8"

Specifcation Code R ion and Way NO.
Mechanical Valve wo-position Three-way

T = 12wl iR
Flow Control Valve

Ordering Code

%5/ Button Type

ZH &A%/ Blank: Basic Type
R:RHRE!/ Roller Type

TB: &8/ Selective Knob

LB: #iniEAEHA/ Strengthened Knob
PB: X[E#4%40/ Large Round Button
PP: F[F#4%4A/ Plat Round Button
PPL: (EZ4%4$H/ Convex Round Button
EB: f#Z#% 5/ With Lock Button

RE - 02
RIS BEEOR
Series Code Port Size
RE: T84 i 01: G1/8” 02: G1/4”
RE: Flow Control Valve 03: G3/8" 04: G1/2"

Http://www.cn-hawks.com




5] 7 R

Speed Control Valve

Ordering Code
sV - 01 AN

R ®EEOR
Series Code Port Size
SVE&7 01: G1/8”
SV Series

TRIR B A

Quick Exhaust Valve

Orderxing Cod

\ _ N/ }_06/
\/E‘E‘D&
Port Size
06: G1/8" 15:G1/2"
08: G1/4" 20: G3/4"
10: G3/8" 25:G1"

TRIR

Quick Exhaust

Product Description

ZM—RREESI SIRERZ B EESEMER E FSEREEST SR E R ERH &5
SEREREEN. M TRESEENRENLRAABE.
P EBEEmE; A ESE R: HEHAR

The valve is generally installed on the pipeline between the cylinder and reversal valve and
cylinder, which directly discharge the air from cylinder without passing the reversal valve
to achieve the goal of fast reversion of cylinder. The effect on improving cylinder spe:
obvious.

P: Connect reversal valve export

A: Connect cylinder ~ R: Connect muffler

Http://www.cn-hawks.




R 1

Shuttle Valve

Ordering Code /\
ST - 01 [N

E ]

ST: i@

Series Code

ST: Shuttle Valve

03: G3/8"

LAEE

Check Valve

BEEOR

Port Size
06: G1/8"
08: G1/4"
10: G3/8”"
15: G1/2"

Product Explain
ZRR—M A ZBFHEE,EREEERRESIEFX HRRXANEN, SBREFHSE

TRENHEZ

This valve is a two-position three-way hand sliding valve, which is usually installed in the piping to turn

on/off airs. When it is turned off, the air pressure in the pneumatic system is exhausted at same time.

Ordering Code
HSV - 03

AR EARDD

Specifcation Code Joint Code

01: G1/8 02: G1/4 03: G3/8
04: G1/2 06: G3/4

Http://www.cn-hawks.com




HK R 5l eastim

HK Series Solenoid Valve

Ordering Code

HKA1 120 - 06 - ACHOV -

Series Code 220 KL B 06:1/8" Voltage
HK1 Series 330C A= LA i
330E Attt =X r ik R
330P A E R B ik 8
Coil and Places
120: Single Coil (5/2)
220: Double Coil (5/2)

HK % 5| s

HK Series Solenoid Valve

Ordering. Code

RIREY B RALE BEEORE PR E K
HK1 %3 1203 WL E Port Size Standard = AR

G: Lead Wire Type Coil
L: With Lighting Connector| Coil

AC110V

L

BEOR RERE

Port Size Standard

06: 1/8" Voltage

08: 1/4" DC12v

Hk2 Series B DC24v

Hk3 Series HRER R AC24V
il and Places AC110V

130: Single Coil (3/2) (5/2) AC220V

230: Double Coil (3/2) (5/2)

330C: Center Closed Type Solenoid Valve (5/3)
330E: Center Ex ‘ust Type Solenoid Valve (5/3)
330P: Center Prest ‘e Type Solenoid Valve (5/3)

Ordering Code

2353170

= H AR TR
Gal%&AL%E

L: SIRTATLE
Wiring Form
Blank: Standard
Connector

G: Lead Wire
Type Coil

L: With Lighting
Connector Coil

Hk5 120 - 10 - AC1M0V

L

Ry LB RAIE BEOR bR E
Hk5 &3 1208 KWL E Port Size Standard
Series Code 220 WKL E 08: 1/4” Voltage
Hk5 Series 330C A= B LR 10: 3/8" DC12v
330E :Hu;tth =X A ik R DC24V
330P :Hh E = FLH R AC24V
Coil and Places AC110V
120: Single Coil (5/2) AC220V

220: Double Coil (5/2)

330C: Center Closed Type Solenoid Valve (5/3)
330E: Center Exhaust Type Solenoid Valve (5/3)
330P: Center Pressure Type Solenoid Valve (5/3)

Http://www.cn-hawks.com

2354175

ZE AR TR
G3l%&AL%E

L: HiETAT4E
Wiring Form
Blank: Standard
Connector

G: Lead Wire
Type Coil

L: With Lighting
Connector Coil

_20_




HK 3R 5l eastim

HK Series Solenoid Valve

Ordering Code /\

Hk6 120 - 15 - ACMOV [ - L/

RYIRE

Hk6 #731

Series dee BRI
HIG Series 120 28 S AL B

220 WKL E
330C A= LA i
330E Attt =X, BB # 8)
330P :H & A R
Coil and Places
120: Single Coil
220: Double Coil

AC220V

Blank: Standard
Connector

G: Lead Wire
Type Coil

L: With Lighting
Connector Coil

HKR 5z

HK Series Baseplate

HK3000M> OF

Z75{LF5/Series Code
MK3000M: HK3130, HK3230, HK3330
000M: HK5120, HK5220, HK5330

-21- Http://www.cn-hawks.com

EEHE

XG3000M: fE &%
XG5000M: {E & &

Joint Base Number
XG3000M: Wantonly Joint
XG5000M: Wantonly Joint




4V100 3 5l et

4\V/100 Series Solenoid Valve

Ordering Code

4v 1 10 06 AC220V

Ry BEOE TR E
100% 751 . - Port size Standard Voltage
& iy
Series Code i@gjfxﬁzﬁ M5: M5 x 0.8 DC12V
100 Series Rt 06:1/8" DC24V
20: MK E AC24V
K= EHAE AC110V
3 o= = )
MR AL EHESE AC220V

30P: Wk =EENE
Coil and Places

4V Z S hiE R EL R
3V: T =i F R

|
EERR
A FROERTFR
LD: F&#HLTinFR
LD:: A& TiHFR
W54

Specifcation Code

4V: Two (Three)-position
Five-way Solenoid Valve

3V: Two-position Three—

10: Single-head Double-position

20: Double-head Double—position

30C: Double-head Three-position Close Type
30E: Double-head Thregsposition Exhaust Typé

way Solenoid Valve 30P: Double-head Th

4V200 R 5| smtim

4200 Series Solenoid Valve

Ordering Cod

W

AC220V -
|

RRERE

Standard Voltage
DC12v

DC24v

AC24V

AC110V

AC220V

' |
‘Q HEOE

KB AR

Coil and Rlaces
10: Single~head Double-position

: Dduble-head Double-position
: Double-head Three-position Close Type
OE: Double-head Three-position Exhaust Type
30P: Douwr ‘-head Three-position Pressure Type

Five-way Solenoid Valve
3V: Two-position Three-
ay Solenoid Valve

Ordering Code

I
LR
Z=H: ERFR
LD FEHTIHFR
LD+:H & ATiRFR
W%
Wiring Form
Blank: Standard Connector
LD: Brown with Lighting
Connector
LD1: White with Lighting
Connector
W: Lead Wire Type

4V 3 10 10 AC220V

w

|
RIIKE

s wEOE R
300%% e Port size Standard Voltage
Series Code ~ XERMH 08: 1/4" DC12V
300 Series 10: BT E 10:3/8" be24v
o 20: WML E AC24V
AT 30C: ML =L EH AL AC110V
AVIZERFERRE 0B WASREHSR AC220V

30P: Wk =frEENE

Coil and Places

10: Single-head Double-position

20: Double-head Double-position

30C: Double-head Three—position Close Type
30E: Double-head Three—position Exhaust Type
30P: Double-head Three-position Pressure Type

3V: T =i R E
Specifcation Code

4V: Two (Three)-position
Five-way Solenoid Valve
Control Valve

3V: Two-position Three-
way Solenoid Valve

Http://www.cn-hawks.com

I
BERER
TEARERFR
LD F&HTifk FX
LD+ B &FTIHFR
W51 &3
Wiring Form
Blank: Standard Connector
LD: Brown with Lighting
Connector
LD+1: White with Lighting
Connector
W: Lead Wire Type

_22_




4V400 3 5 ez

4400 Series Solenoid Valve

Ordering Code

4v 4 10 - 15 AC220v. - W
' | ' | | |
L RIIRED BEOR Rk B
400% 71 Port size Standard Voltage = AR TR
Series Code 25 B % (8 16:1/2" DC12v LD Za AT T
- 400 Series 10: BT E DC24v LD:A B #HATiH T
- Bkt

20: WKWLE AC24V
30C: WK =HrEHHE AC110V
30E: WA= EHSE AC220V
30P: MK=MEENE

Coil and Places

10: Single-head Double-position

20: Double-head Double-position

30C: Double-head Three- posmon Close Type

MAEKED

4V: =S AR

3V: L= 8 F AR
Specifcation Code

4V: Three—position Five—
way Solenoid Valve

3V: Two-position Three—
way Solenoid Valve

Connector
LD1: White
Connector
W: Lead Wire

AM R Fllixitim

4M Series Namur Valve

Ordering Céde
4M

AG220V L

\@@\ Y
é%l%ljﬁﬁ%&“ EECE

FRERE
2108445 gtg:i;\a;rd Voltage
& DC24Y EZ
MBI AC24V = A AR TR
4M ’HiT??U AC110V Gzlifztiﬁ@
e AC220V L i AT R
Wiring Form

Blank: Standard Connector
G: Lead Wire Type Coil
L: With Lighting Connector Coil

: Sipgdle Operated
: Double Operated

Ordering Code

4A 1 10 - 06
, | .

. EEOR
TO?)IJ:;;? LB R AL Port size
Seri,e; Code 10: BAMALE M5: M5 A0.8

) 20: WKL E 06:1/8"
100 Series

30C: MK =B AR

MIERED

AA: Z S HBSERE

3A: TR BRIER

Specifcation Code

Five-way Solenoid Valve

4A: Two (Three)-position Five-way
Pneumatic Control Valve

30E: Wk =fuBEHSE

30P: WK=MEEHE

Coil and Places

10: Single-head Double-position

20: Double-head Double-position

30C: Double-head Three-position Close Type

-23-

30E: Double-head Three-position Exhaust Type
30P: Double-head Three—position Pressure Type

3A: Two-position Three-way Pneu
matic Control Valve

Http://www.cn-hawks.com




4A200 R 5 =12im

4A200 Pneumatic Control Valve

Ordering Code

4A 2

10 - 06

& ‘;,
‘ .
]

Ry
20051
Series Code
200 Series

AR

AA: Z G RBRER

3A: ZRI=BSIER

Specifcation Code

4A: Two (Three) -position
Pneumatic Control Valve
3A: Two-position Three-way Pneu
matic Control Valve

Five-way

4A300 R Hl=1z0m

4A300 Series Pneumatic Control Valve

Ordering Code

| ®EOR

LB RATH Port size
10: B E 06: 1/8"
20: WL E 08:1/4"

30C: MK = FEAE

30P: Wk =M EENE
Coil and Places

10: Single-head Double-position
20: Double-head Double-| position

4A

im%ﬁﬂ

3A _1_L ﬁ—xizlﬁ
Specifcation Code

4A400\Series Pneu

Ordering Code

D | N

BEEOR
LB RN Port size
10: B E 08:1/4"
20: 3&9—5&14 10: 3/8"

S =R B A
3DE: WA= FEHSE
OP: Wk = BEHE
oil and Places
10: Single-head Double-position
20: Double-head Double-position
30C: Double-head Three—position Close Type
30E: Double-head Three—position Exhaust Type
30P: Double-head Three-position Pressure Type

4A 4 10 _ 15
| | | |
% . ¥ BEEOR
Seri/e\s Code 10:%?:?5(1%5 15:1/2"
400 Series 20: WMKMLE

o im%{’cﬂ

Specifcation Code

4A: Two (Three)-position Five-way
Pneumatic Control Valve

3A: Two-position Three-way Pneu
matic Control Valve

Http://www.cn-hawks.com

30C: Mk =L FEHE

30E: MK BEHSE

30P: Wk = EENE

Coil and Places

10: Single-head Double—position

20: Double-head Double-position

30C: Double-head Three-position Close Type
30E: Double-head Three-position Exhaust Type
30P: Double-head Three-position Pressure Type

_24_




-25-

4V100-4003 H e

4V100-400 Series Baseplate

Baseplate Ordering Code

100M - UF
\ \
Ry EEHE
¢ i 100M: 100% 5!l FA Jic & , XG3101, XG3200, XG3303 Joint Base Number
R 200M: 200% 51 F K EE ,XG4101, XG4200, XG4303 100M: 1°20F
. ’5 300M: 300% I F JiE B2, XG5101, XG5200, XG5303 200M: 1:20F
\é 400M: 400 % I A JiE FE ,XG6101, XG6200, XG6303 300M: 1 20F
Series Code 400M: 1 20F
100M: Baseplate for 100 Series Use, XG3101, XG3200, XG3303
- 200M: Baseplate for 200 Series Use, XG4101, XG4200, XG4303

300M: Baseplate for 300 Series Use, XG5101, XG5200, XG5303

L / Us///’/: 400M: Baseplate for 400 Series Use, XG6101, XG6200, XG6303

Blind Plate Ordering Code

200M -
\

AFIXFY/ Series Code

100M: 100 &%IF/For 100 Series Use
200M: 200 Z#%IF/For 200 Series Use
300M: 300 &%If/For 300 Series Use
400M: 400 Z%IF/For 400 Series Use

BM* 5l st

Loop and Places
Blank: Single-head Double-position
D: Double-head Double-position
T: Double-head Three—position

Ordering Code

3V1 - 06 P - AC220vV - L

MR BEOR  EEAR EBE |
SVITHI=/@HE  Port Size A EER Standard Voltage =H #REHT
Specifcation Code  M5: M5x0. 8 PARiEs DC12V G|

3V1: Two-posiion  06:1/8" Connecting Type DC24V LA R AT L

Three-way Solenoid Blank: Pipe Connection Type AC24V Wiring Form

Valve P: Plate Connection Type  AC110V Blank: Standard Connector

AC220V G: Lead Wire Type Coil

L: With Lighting Connector Coil

Http://www.cn-hawks.com




Hk220 3 5l st

Hk220 Series Solenoid Valve

Ordering Code

HK 220 -4 -E2 C - AC1M0V - L Y SP

s 4:47518) FRAERE
Model 4: Four Way Standard
B B Voltage
rirnE Bl De2A
Body Width 2 AC110V
E1: Single Coil Thread
E2: Double 25il AC220 Noe e Blank: PT \Thread

CREfLE XM
B EES

Hk260 3 5l ez siia

Hk260 Series Solenoid Valve

- BSP
R E EEOEF
Standard ¥ :PTF
Voltage se BSP:BSP
/ DC24V *f&%_i\t " NE’T: I\?P;
1. single Coil ACT10V =R AR Joint Pipe Thread
E2: Double Coil AC220V Gflgift&'g Blank: PT Thread
L AR ATE BSP: BSP Thread
C:F B B 5K A E BrHREL NPT: NPT Thread
PHENERES Wiring Form :
R:AEIEHS Blank: Standard Connector

C: The Middle Position Close G: Lead Wire Type Coll
P: The Middle Position Ventilate L: With Lighting Connector Coil
R: The Middle Position Exhaust E: Blast-proof Type

Ordering Code

RS 3:3/718 E1:R4E TR R E BEORF
Model 4:4551 E2 X4 E Standard X. PTH
3:Three Way E1: Single Coil Voltage R BSP:BSPF
4:Four Way E2: Double Coil DC24Vv f' ’_I‘ s NPT:NPTF
AC110V Z=H AR TR o
2 ke S Joint Pipe Thread
. ) ) AC220V G3l&RL%E .
KRR C i & XA L. #emirpm  Blanks PT Thread
ody Wi P b i EiES E: BRE pab: Ll

RAEMEHS Wiring Form WIPUs DIPT Uit
C: The Middle Position Close Blank: Standard Connector
P: The Middle Position Ventilate G: Lead Wire Type Coil
R: The Middle Position Exhaust L: With Lighting Connector Coil
E: Blast-proof Type

Http://www.cn-hawks.com

_26_




PUR N =t =@ mtim

PU Series Two—position Two-way Solenoid Valve

Ordering Code

=27 -

PU 220 - 04 A - AC110V
MEAR BEOE RERS HRERE
220: E#HR Port Size ZH:ARER Standard Voltage
Motion Pattern 01:1/8" 08:1" A RREQORE DC12Vv
220: Direct drive type 02: 1/4" 12: 174" AR:/NARZEHE
03:3/8" 14: 12" FoRZRER
04:1/2" 20:2”  Wiring Form
06: 3/4" Blank: Standard Type
AR FEED A: Large Flux
PU: — {3 — i@ B 8 AB: Sma.ll Aperture
Direct Drive

Specifcation Code
PU: Two-position Two-way Solenoid Valve

PU R 5l e st

PU Series Solenoid Valve

Ordering Code

F: Flange Type

06 \ AC220V
bR E
Standard Voltage
12: 114" DC12V
> : 14: 112" DC24V
o —— 06:3/4" 20:2 ﬁggé\\;
SPU: REFN L — i iz AC110V
Specifcation Code AC220V
PU: Two-position Two-way
rdering Code
2W 025 - 06 AC110v - D
MEFLE BEOE BEEHR
Aperture of Flow Rate Port Size A RRGIGNKTLE
025: 2.5mm 06: 1/8" ELENHBLE
040: 4.0mm 08:1/4" E:BhiR&E
160: 16mm 10: 3/8" G: Fh7k kB
200: 20mm 15:1/2" Wiring Form
250: 25mm 20: 3/4" . Blank: Lead Wire Type
350: 35mm 25:1" tRiEr R D: Din Connector
400: 40mm 35: 1/4" Standard Voltage  g. gjast-proof Coil
500: 50mm 40: 172" bc12v G: Water-proof Coil
MR 50:2" poso
2W:;1ﬁ;i§$f§iﬁﬂ (HE#R) AC36V
Specifcation (?f)de . AC110V
2W: Two position two way solenoid valve AC220V

(direct drive type)

Http://www.cn-hawks.com




VXR | = —msnm

VX Series Two-position Two-way Solenoid Valve

Ordering Code

2QR 5 =z—mm

2Q Series Air Control Two-Way Valve

Ordering Code

15: 1/2 A: Large Flux

VX2120 - 08 A AC220V
BRI BEOE RERS HRERE
Specifcation Code Port Size 2R ARAER Standard Voltage

06: 1/8 AXREOR DC12v
08: 1/4 Wiring From DC24V
10: 3/8 Blank: Standard Type AC24V

AC36V

Specifcation Code
Q: two position
Control valve

Ordering Code

Http://www.cn-hawks.com

2V 130 - 15 - AC110V
BRI MEFLE BEOR FRERE
2V A3 T R Aperture of Flow Rate Port Size Standard Voltage
Specifcation Code 025: 2.5mm 06:1/8" 08:1/4" DC12Vv
2V: Two-position Two-way 130: 13mm 10: 3/8" 15:1/2" DC24V
Solenoid Valve 250: 25mm 20: 3/4" 25:1" AC24V
AC36V
AC110V
AC220V

_28_




B A arorr

Right Angle Solenoid Pulse Valve

Ordering Code

XMCF - 62 -  AC220y  \_
|
BEOR
Jiont Bore Voltage
15: " AC36V

B fy 3 s R Bk R
Right Angle Electro-magnetic
Pulse Valve

AC110V

ode

62 - AC220V
BEOR
Jiont Bore BE
gg 523;2” Voltage
AR B R 76: 2G3” ﬁgﬁgv

In Line Electro-magnetic

Pulse Valve bDC12v

DC24V

-hawks.com




2S R Hl =ty —sm e s

2S Series Two-position Two-way Solenoid Valve

Ordering Code

025: 2.5mm
040: 4.0mm
160: 16mm
200: 20mm
250: 25mm
350: 35mm
400: 40mm
500: 50mm

MRS
2S : M@
Specifcation Code

2S: Stainless steel two p solenoid valve

2L RV = =@ mim

2L Series Two—position Two-way Solenoi ve

Ordexing. Code

2S 160 B 15 - AC10V - D
EEOE
Port Size
mETLE rt St
Aperture of Flow Rate 06: 1/8

7 Blast-proof Coil
G: Water-proof Coil

FRERE

Standard Voltage
DC12v

DC24V

AC24V

. 508; 25:1" AC36V
MBI
oL HEE @ 35: 114" AC110V
FREI I s
Specifcation Code ‘5‘8 21”/2 AC220V

Http://www.cn-hawks.com

BEER

TH: ®RRGIGRKTEE
D: #EEEAHBLE
Wiring Form

Blank: Lead Wire Type
D: Din Connector




QTYHR JsrrEr

QTYH Series High Pressure Regulator

Ordering Code

QTYH - 15
AR EEOE
QTYHE [E A& R Port Size
Specifcation Code 08: G1/4
QTYH High pressure regulator 10: G3/8
15: G1/2
20: G3/4
25: G1

QSLHR Y sEitmes

QSLH Series High Pressure Filter

Ordering Code

QSLH N\ N\ - \ )15
) |

10: G3/8”
20: G3/4”

Regulator

Ordering Code

QFRH - 15

BEITERE BEEOR

High perssure Filter Joint Pipe Code

08: G1/4”  10: G3/8”
15: G1/2” 20: G3/4”
25: G1”

:/ / www.cn-hawks.com




AC1000°5000 RF|==umas (=mu)

AC100075000 Series Air Filter Combination (F.R.L Combination)

Ordering Code
A C 3000 - 03 D N

#7|/Series INEERS MRS
ARF| Function Code Specifcation Code
A Series B4 1000 2000
F.R.L Combination 2500 3000
4000 5000

MRS BEEOR Hik AR =R vy 2:1)
Function Code pecifcation Code  Port Size =H: EEHK N: &R
B 1010 M5: M5 x 0.8 D: BhHk Blank: Standard
FR.L Combination %, 2010 01: G1/8" Drain Type N: Metal cup

3010 02: G1/4" Blank: Differential Drain
4010 03: G3/8" D: Automatic Drain
5010 04: G1/2"
06: G3/4"
10: G1”
=3
S e ER
AF1000 500
Ordering Code
| A F 3000 - 03 D N
t ] #7%|/Series INEEKS MRS BEEOR Hk AR ZH: fRER
i A &% Function Code Specifcation Code  Port Size =H: EEHK N: £E#
\-q" A Series  iEH 1000 M5: M5 x 0.8  D: Bk Blank: Standard
Filter 2000 01: G1/8” Drain Type N: Metal cup
2500 02: G1/4" Blank: Differential Drain
3000 03: G3/8" D: Automatic Drain
4000 04: G1/2”
5000 06: G3/4"
10: G1”

Http://www.cn-hawks.com




AR1000°5000 R % m=m

AR1000°5000 Series Regulator

Ordering Code

AW1000~5000 R 55 m

AW1000°5000 Series Filter & Regulator

Ordering Code

A R 3000 - 03
#3%Il/Series RS MIERS EEOE
A &5l Function Code Specifcation Code Port Size
A Series L 1R 1000 M5: M5 x 0.8
Regulator 2000 01: G1/8"
2500 02: G1/4"
3000 03: G3/8"

4000
5000

04: G1/2"

A

#3%I/Series MBS BEEOR Hk AR =H: FER
A B&7l ode Specifcation Cod Port Size =H: EEHK N: &B#
A Series 1000 M5: M5 x 0.8  D: BahHk Blank: Standard
01: G1/8" Drain Type N: Metal cup
02: G1/4" Blank: Differential Drain
03: G3/8" D: Automatic Drain
04: G1/2"
06: G3/4"
10: G1”
Ordering Code
A L 3000 - 03 N
| |
#7/Series MEERS MRS BEEOR ZH: FoER
. A Z7 Function Code Specifcation Code Port Size N: £E#
i A Series T 1000 M5: M5 x 0.8 Blank: Standard
Lubricator 2000 01: G1/8" N: Metal cup
y 3000 02: G1/4"
L ) 4000 03: G3/8”
5000 04: G1/2"
06: G3/4"
10: G1”

-33- Httop:

/ / wWwWw.cn-hawks.com




FC R =smumu

FC Series Air Source Treatment Unit

Ordering Code

G3/4" Grade of Filtration <A /MIDI

G3/8" ZH Blank:40pm
G1" 5M:5um

L R5luzss

L Series Lubricator

Ordering Code

BEEOR . HRERKHER
=51 Port Size Ehit =H:F3
=N M5 Manometer &=}
s:(;“*;ﬁu M7 Z=f3 Blank: 12bar
FC Series G/s” 7:7bar R'.TJ'

G1/2" Size

G1/4" TIEER #EIREL/MINI

E L (- 14 \\_ -~ MN

&5l
Series

L &%l R+
L Series Size
e AT /MINI
2’ < /MIDI
G1/a A /MAXI
G3a” #0/0vE/MICRO
G3/8"
G1”
Ordering Code
R - 1/4 - [l - MINI
I ' BEOR
#3 Port Size EHit R~
Series M5 Manometer Size
R %751 M7 %1 Blank: 12bar BEAREL/MINI
R Series G1/8" 7:7bar f<E/MIDI
G1/2" RAE/MAXI
G1/4" 28/\E/MICRO
4 G3/4"
G3/8"
G1”

Http://www.cn-hawks.com

-34-




-35-

F &5 ==
F Series Air Filter

Ordering Code

F - 14 - 0O - MN - 5
CE
g i R ERIKHERS
| 731 bt Sie N =: %3
Series M5 o ize H:#Ef}]
| ] F &3l M7 : 2 1 A: £B83)
F Series G1/8" Condensate Drai
G1/2’ BAE/MAXI Blgnk: Turned anually
T G1/4" 4H/\E/MICRO H/ Semi-automatic
G3/4" A: Fully Automatic
G3/8"
G1"

FR R¥twinmEm

FR Series Filter & Regulator

FR 1/4 -~ O - 0 - MINI - U
AN
wEnE s Rt
Port Size TIRER N
M5 Grade of Filtration iL%jm:g: AR
M7 zZgBlank:40um A A FH
" . RAE/MAXI e
G1/8 5M:5um 4055 /MICRO H: 83
G112" b A:2HH
G1/4" Ehit Condensate Drain
G3/4" Manometer Blank: Turned Manually
G3/8”" Z A Blank: 12bar H: Semi-automatic
G1” 7:7bar A: Fully Automatic

Http://www.cn-hawks.com




Standard Cylinder Accessories
= & B 15

B -h\‘ v
v S
1ISO-LB #Type ISO-FA/FB Z!Type
¥ Z8Foot Bracket % Z#Flange

ISO-CAZ! Type
B HSingle Earring

CB #Type

I LB EType N .
ISO-Y+44 FPin 1SO-Y + $0Clip 5£é$}iFootyB')racket Y 2 S Type Joint

L)
L&

&
~//‘ N
= .,"_‘1;'.\.'
1SO-SDB #Type 1SO-I # S Joint FA/FB EType 124 % 3k Type Joint

£ = #iFlange

Http://www.cn-hawks.com =




Standard Cylinder Accessories

O

S R4

TC E!Type TCM BT
71 #2(Central Trunnion) C-M EType

Mini Cylinder Accessories
1 R S L

M-UJ AType M-PHS #Type |
#3 Joint $# 3k Joint rﬁl’.ﬁf
v N
=
M-U EType

Special Cylinder Accessories
=L 45 7k BC 4

-37- Http://www.cn-hawks.com




# & Specification

Magnetism Switch

HE 1% FF <

715 Model 7= fmProduct 3L F Contact Type L JEWorking Voltage R~FDiameter &S 4 & 41&Joint Pipe Bore
_ﬁ&’ﬁ‘/m%% 5240V DC/AC BERATF: BESE;RAFSE
Amagnetic reed switch contact J_ For:Tie-rod,Cylinder
XC-03R n 7 [o] o] = Round Cylinder
Z 51 / T /6 B PANPNAR T
Series Contactless NPN transistors
5730V DC
Joi% 5./ 8 &R RNPNEG)
Contactless PNP transistors
S/ MEE ~
Amagnetic reed switch contact 5240V DC/AC
XC-11R - Tt &5,/ S FANPNG H
%@J Contactless NPN transistors
Series 5730V DC
Toi% 5./ F B RNPN
Contactless PNP transistors
BES/HEE § Pt Fid doming (R
Amagnetic reed switch contact 40V NQCARC ol device) " steel bell
A - - f 7
XC-21R >/ Ttk £/ HB. B ANPNAG 5
E @ Contactless NPN transistors
e
Series S / “38v DC @ @
o PM EE%XE  PAC BERA

Te$E 5./ B8 &R FRNPNAST
Contactlessw

(Fixed clamping (Fixed clamipg
device) device)

Em/HEE
tic reed switch contact

wv DC/AC

6.2 —— _D.Il - 5.3+0.1 0.9 @ ©:
XC-31R s o 20 0t -
%3 Contaciions NP m |k o¥d
Series v bc | - eSO
%/ B & VKNP ERTF
Coﬁ% PNP transistors FESTO FOR:FESTO
# 5 Model ?éﬁProduct \éﬂﬁ;‘ﬁéi\‘,MetaJ/?lrip mode| ~ & [ESketch map
Bl ZE & & 5 . .
§ | PAB z5
Mal band series BK ,%i] Series PN %% Series
EhE
Fixed \/ﬁABIEIE%?T%ﬁlJ
metal : PAB fixed metal band
band %
PNE E & & 5
PN fixed metal band series
75 Mode 7= @Product * B # K Clamp Model ;& E Sketch map
PIXERT
- Pl fixed Clamp series Pl Z 7% Series PAC PM Z | Series
FUEA \ I | PACSE £
Clamp 0 PAC fixed Clamp
P
= PMEE R T
PM fixed Clamp series

Http://www.cn-hawks.com

-38-




-39-

Tube Fitting TRIE £k

XPC/YPCH241Hi& Threaded Direct Way Pipe

BS
XPC4-(G)M5 XpPC8-(G) 04
XPC4-(G)01 XPC10-(G)01

= XPC4-(G)02 XPC10-(G)02
: : XPC6-(G)MS5 XPC10-(G) 03
 ~ XPC6-(G)01 XPC10- (G)04

/// XPC6-(G)02 XPC12-(G)02

! @ XPC6-(G)03 XPG12-(G)03

[ XPC6-(G)04 XPC12- (G)04

XPC8-(G)01 XPC16-(G)03
XPC8-(G)02 XPC16-(G)04
XPC8-(G) 03

XPL / YPL LZU#Z41—j@ Threaded Two-Way Pipe
BS
XPL4-(G)M5 XPL8-(G) 04
XPL4-(G)01 XPL10-(G)01

XPL4-(G)02 XPL10-(G)02
XPL6-(G M5 XPL10-(G) 03

)

)

)

p, : )
- XPL6-(G)01 XPL10-(G)04
\ \ Y WY XPL6-(G)02 XPL12-(G)02
- { ,’,’ XPL6-(G)03 XPL12-(G)03
- XPL6-(G)04 XPL12-(G)04
XPL8-(G)01 XPL16-(G)03
XPL8-(G)02 XPL16-(G)04

XPL8-(G)03

XPB / YPB TZU4241 =B Threaded Three-Way Pipe
g
XPB47<G)M5 XPB8- (G0

XPBG (G)01
XPB6- (G) 02

XPB16-(G)Q
XPB16-(G) 04

XPP /&2 Pipe Seal

BS
XPP
XPP
XPP
XPP
XPP

= = 00 O
N O

XPE / TEI=3& Three-Way Pipe

s
XPE 4
XPE 6

( XPE 8
- XPE 10

: XPE 12
\\"1

XPE 16

XPLL / YPLL TEANHKIZLAIZi# Lengthen Threaded Two-Way Pipe

)
)
)
)
XPD6-(G)0
XPD6-(G) 02
XPD6-(G) 03
XPD6-(G) 04
XPD8-(G)01
XPD8-(G)02
XPD8-(G)03

XPV / L # & Two-Way Pipe
Bg
XPV 4
XPV 6

XPV 8
XPV 10

T 2 V7

XPU /Ei& Direct Way

e
XPU 4

XPU 6
f XPU 8
XPU 10

XPU 12

XPLL8-(G) 02 XF
XPLL8-(G)03

XPD4 (G)M5 XPD8-(G) 04
XPD4-(G)01 XPD10-(G)01
XPD4-(G)02 XPD10-(G)02
XPD6- (G M5 XPD10-(G)03

1 XPD10-(G) 04
XPD12-(G) 02
3 XPD12-(G) 03
XPD12-(G) 04
XPD16-(G) 03
2 XPD16-(G) 04

Http://www.cn-hawks.com




XPM /fE#REi# Clapboard Direct Way Pipe

e
XPM
XPM
XPM
XPM
XPM

= =00
N O

(¥

&

XPK /fi& Five-Way Pipe

me
XPK
XPK
XPK

0 o N

&

Y7

XPKD / YPKDIR#Z424 f1jEReduced Threaded Five-Way Pipe

e

XPKD
XPKD
XPKD
XPKD

6-4-(G) 01
8-4-(G) 02
8-6-(G)0
10-8-(GX03

XPLF8-04

XPLF10-03
XPLF10-04
XPLF12-02
XPLF12-03
XPLF12-04
XPLF16-03
XPLF16-04

XPGJ /{2 E &4 Reduced Direct Way Pipe
B
XPGJ 6-4
XPGJ 8-4
. XPGJ 86
ﬁ XPGJ 10-6
- XPGJ 10-8
= \ XPGJ 12-6
" XPGJ 12-8
N XPGJ 12-10

Http://www.cn-hawks.com

XPX / YPX YEU#Z4r =i@ Threaded Three-Way Pipe

BS
XPX XPX
4-(G)M5 XPX
XPX 4-(G)0OKPX
XPX 4-(G)0XPX
XPX XPX
6-(G)M5 XPX
XPX
XPX
XPX
XPX
XPX

8-(G)02

8-(G)03

8-(G)04
10-(G)01
10-(G)02
10-(G) 03
10-(G) 04
12-(G)02
12-(G)03
12-(G) 04

&

&

6-(G) 0KPX
6-(G) 0XPX
6-(G) OXPX
6-(G) 0KPX
8-(G)01

%
\\, ';

XPH / YPH 4h75 A%k Out Hexang

XPH8-(G)0
XPH8-(G) 03

PHF4-(G) MXPHF8-(G) 04
XPHF4-(G) 01XPHF10-(G) 01
XPHF4-(G) 02XPHF10-(G) 02
XPHF6-(G) MXPHF10-(G) 03
XPHF6-(G) 01XPHF10-(G) 04
XPHF6-(G) 02XPHF12-(G) 02
XPHF6-(G) 03XPHF12-(G) 03
XPHF6-(G) 04XPHF12-(G) 04
XPHF8-(G) 01

XPHF8-(G) 02

XPHF8-(G) 03

XPCF /A#24 Ei@ Inner Threaded Direct Way Pipe

25
XPCF4-M5  XPCF8-04
XPCF4-01  XPCF10-01
XPCF4-02  XPCF10-02
XPCF6-M5  XPCF10-03
XPCF6-01  XPCF10-04
XPCF6-02  XPCF12-02
XPCF6-03  XPCF12-03
XPCF6-04  XPCF12-04
XPCF8-01  XPCF16-03
XPCF8-02  XPCF16-04
XPCF8-03
XPOC/YPOC
S
XPOC4-(G) M5 XPOC8-(G) 04
XPOC4-(G) M6 XPOC10-(G) 01
XPOC4-(G)01 XPOC10-(G)02
-~ XPOC4-(G)02 XPOC10-(G)03
e XPOC6-(G) M5 XPOC10-(G) 04

XPOC6-(G)01 XPOC12-(G)03
XPOC6-(G)02 XPOC12-(G) 04
XPOC6-(G)03 XPOC14-(G)03
XPOC8-(G)01 XPOC14-(G) 04
XPOC8-(G)02 XPOC16-(G)03

)
)
)
)
XPOC6- (G; M6 XPOC12-(G) 02
)
)
)
XPOC8-(G)03 XPOC16-(G) 04

-40-




-41-

HVSS HVFF
g Bg
HVSS 01-01 HVFF 06-06
HVSS 02-01 HVFF 08-06
_ HVSS 02-02 HVFF 08-08
{ HVSS 03-03 HVFF 10-10
HVSS 04-03 HVFF 12-10
HVSS 04-04 HVFF 12-12
Bk
PUE/E
PU Tubing / Nylon
PU%/ PU Air Hose
Jé#/ Nylon Air Hose -

K 55
Code
ShE (mm)
Extern 3.0
diaméter

0320

425

\%3

0640 O 0860 1065 070 0

\%0 ®8.0 kﬁ\

1290 1611

®10.0(®10.0 §>12.0 ®12.0{P16.0

1613

$16.0

S (
/*fggti"\ 2.0

2.5

\¥Q$:0 ®5.0 | 6.0

q;isv/dﬁio ®8.0

$9.0 |®11.0

$13.0

pecifcations

A B 28/A Type Series Muffer

F=&@{XS Code

Screw Thread Size

YR

B #5475 82/B Type Series Muffer

F=miS Code

YR

Screw Thread Size

ABLHFE R BELHA
AType Series Muffer B Type Series Muffer

-10A
-15A
-20A
-25A
-32A
-40A
-50A

M5
1/8”
1/4
3/8”
1/2"
3/4”
1
11/4”
11727
>

1/8”
1/4”
3/8”
1/2"
3/4”
1

Http://www.cn-hawks.com




SCEUH 75 7% s sk SCQALH 5 28 M Rk

SC Type Series Muffler Steel Copper Plating Feel| SCQ Type Series Muffler Steel Copper Plating Feet

RS Code | #4 R~} Screw Thread Size | =GRt S Code | #4IR~F Screw Thread Size

SC-6 1/8" SCQ-6 1/8"
SC-8 114" SCQ-8 174"
SC-10 3/8" SCaQ-10 3/8"
SC-15 12" SCQ-15 1/2"

SCELH iR iRE & SCQE!H A i '
SC Type Series Muffier ~ SCQ Type Series Muffler SC-20 3/4"
Steel Copper Plating Feel  Steel Copper Plating Feet

SC-25 1"

==og

DEGE A2/ D Type Series Muffler
@S Code | #41R~t Screw Thread Size

-6D 18"
-8D 114"
-10D 38"
-15D 12"
-20D 3/4"
-25D 1

DEAME VBT R 174"
D Type Series Muffler V Type Series Muffier
1 ?mn

o

N

DXH A8 VEE 2%
D Type Series Muffler | V Type Series Muffier

HEHFSHIRECRE VAR H A 2R SDE
C Type Exhaust Muf- | SD Type of Timing
fling Throttle Valve Muffler

‘1 ) 0 KA 03 T 0 i v
Code |yhreaudize] C%% ltfread Size| €% [Thread Size ©°9° |Thread Size
# e I 1ze I 12 al 1Z
\/
118" B-6 1/8" C-6 1/8" SD-6 1/8"
114" B-8 1/4" c-8 1/4" SD-8 1/4"
AR HRAAR B-10 38" C-10 3/8" SD-10 3/8"
A Type Exhaust K

B-15 12" C-15 12" SD-15 12"
B-25 ™ C-25 ” SD-25 ne

ERHER BRISUBLHF BRIPSUZLHE 78

E Type Series Muffling SU Type Plastic Timing Muffler|PSU Type Plastic Timing Muffler

RS By R~ FRits YR =Riks WY R~
Code |Screw Thread Size| Code |Screw Thread Size| Code |Screw Thread Size

\ E-6 118" Su-6 118" PSU-M5 M5
i : < E-8 114" SuU-8 114" PSU-01 1/8"
T 3 E-10 3/8" SU-10 38" PSU-02 114"

E-15 112" SU-15 112" PSU-03 38"

AEENDAMES  ENSULHME  EEPSUNARE
E Type Exhaust Muffing  SU Type Plastic  PSU Type Plastic E-20 3/4" PSU-04 1/2"
Throttle Valve Timing Mutfier Timing Mutfar

E-25 1"

Http://www.cn-hawks.com -42-




S 1T 5 o
Penumatic Actuator |

Lok

Characteristics

1. ??F%;.JB'E(ASTMGO%)HW ANREMERBMT, LB, SEEEREN,

Fg b1 e &£ /A

2. XLE%‘@E’E‘.&*EMX#, FHRZE. BMEER). BES, ZHhE, WEHiEe
X, FHERRE. "
%;E%ﬁ%%ﬁ%ﬁﬁémﬁﬁﬁﬁm BiEBMR, REE, MR, ERFS
A HEXTNEEREE, HERL. K, %.%E’li!z? ’Eﬁ mi<

5 % A 0T B0 7E 38 b i . HA A B0 E BE A, RIERANE.

6 THEMAE R IEREE 70 . .
TRBREIRTHE |305211/DIN33377FT/E HHEE. B, MARRIRSE
# 0 R ANANURER o, 5B %e s A i 11 DRACES . 7 i 8 25 T 4 .

8. #510040-10270

9. Mt H#ESE B : 6. 3-3300N.m

53] I—J\%ﬁ%\ﬁ/ﬂé%ﬁ/é Ak e WOARF| 1505211
ReferenceValvel,” Reference P=16Bar Double |3 = &E#EfrE
W Valve Size(inch) Valve(NTo;que Square Flange

m

40 1.5” 9 9X9 FO3/F05
50 27 9 11X11 FO3/F05
65 2.5” 11 14X14 FO5/F07
80 3” 20 14X 14 FO5/F07
100 4 47 17X17 FO5/F07
100 4” 47 17X17 FO5/F07
125 5”7 82 22X22 FO7/F10
150 6 130 22X22 FO7/F10
250 10” 360 27X217 F10/F12
250 10”7 360 27X217 F10/F12
300 127 475 36X36 F10/F14
350 147 760 36X36 F10/F14
400 16”7 1300 46X46 F12/F16
500 20" 2340 46X46 F16

#iE: BERSHEMANBRBESEATSHPITRER.
Remarks: Single acting pneumatic actuator etc other details please reference Yuandong-Hawks actuator catalog.

_43_
Http://www.cn-hawks.com




Material
1 .

FS - o =1 . X . ] i #4 R Optional
F E {27 Description Qty # R %& #% Standard Material %< AL 32 Protection Material

1 }5 71~ 2 W2 §7 Indicator Screw 1 By PEI\S,UCS\\

2 35 7R 8% Indicator P ¥8 f3} Plastics” ]'_/

3 + & Circlip 1 m\i[ﬂ StainlessSteel

4 E{mGasket / 1 Ififé & ngineering Plastics

s | A e [ ] I 8A% wowmosr, || EREEE

6 \\E{Eﬂ( Retain\ér\Ring\ 1 ( I,}ifé*il» Engir%gring Plastics

7 & & cam \ 1 T \O& & Steel Alloy

08 BN E 3 7R) ABRE

O Ring\ (Upper Bearing)

Ths

B NBR

Fluorine/ Silicone Rubber

AR Up& Bearing

\_BE/E,E # Engineering Plastics

10 53l Pinion 1 ik §X CcarbonSteel $E 48 Nickel Plated 7~ £5 §M stainless Steel
11 ™ 4 7 Lowe}B\ear\i?»g\ 1 / T #2 %B $} Engineering Plastics
] . r— ,"—\ lavagd
12 0 : B (T %A 7?0 ] TR NBR BBREKE
O Ring\(Lower Bearing) Fluorine/ Silicone Rubber
13 ORI [E (AT 124 ) TSI B NER SR
0 Ring (Adjust/Screw) R X Fluorine/ Silicone Rubber
14 BZE Nut (Adjust Screw) 2 AE545M stainless Steel
15 BT8R 22 Adjust Screw 2 ANE545M stainless Steel
; : oA i i PHAR & L 2
3 5 Al Cast §
16 iE 28 Piston 2 SREE Auminum Cas "9 Anodized/Zinc Galvanized
17 B E 3R (FEZE) Guide (Piston) 2 TiEER Engineering Plastics
r— Vaaraz
. AR E
il SEZE i i res
18 0Z! B (7&ZE ) ORing (Piston) 2 T%*%H& NBR Fluorine/ Silicone Rubber
19 | EEIR GEZE) Washer (Piston) 2 T #2 ZB#Y Engineering Plastics
20 B Z5  Spring (Single Acting)| 0712 S E 4N Spring Steel
= 4 s
BB (322 o R, = 1 s ABEKE
21| 0BY [ (4HE5) O Ring (End Cap) 2 TBR1REE ner Fluorine/ Silicone Rubber
. sl #ﬂ Favad
22 i 2 End Cap 2 BE4E  Aluminum Casting Pov%ei’ﬁcugéﬁg,%ﬂc
23 iy 25 W8 2% Cap Screw 8 A EE4M Stainless Steel

Http://www.cn-hawks.com

_44_




/— oo :I: . "
1T & # B Dimension Table
|
H
L \xﬁ\ N
Ax)
7 O
<D E
v I~
7
7
fan) o
\/ 3/
()
7 | I
[ole
\
7\ A ™
- &b N D)
z A B
24 L0
4-M5 s R Lapys 2-Rp)é
Y o Y o
\J A\ \J A\v>
D Va o D Va )
9/ S S
o o o ©
— —
“NAMUR ‘i “NAMUR 0
e A |B]| C D E |F| 6 H | J K L M Z | & | Air joint= B DA\B
10040 DA | 25 [32\60 | 80 | 50 [30| 50 | 36| »50] M5x8 | m5x8 9x9 | 12 | 108 | 40 NAMUR Rp 1/8"
10052DA/SR| 30 |40 | 73| 95 | 59 |30 80 | 36| 50| M5x8 | M6X8 | 11x11| 15 | 135 | 40 | NAMUR Rp 1/8” or 1/4"
10063DA/SR| 36 | 44| 88 \ 1087 74 [30| 80 | 50| &70 | M6x10 | M8x13 [14x14 | 16 | 142 | 40 NAMUR Rp 1/4”
10075DA/SR| 42 |50 [100.5| 121 |80.5|30| 80 | ©50| ©70 | M6X10 | M8X13 | 14X 14 | 16 | 168 | 40 NAMUR Rp 1/4”
10083DA/SR| 46 |57 (108.5/ 129 | 88 |30| 80 | ©50| ©70 | M6X10 | M8X13 | 17x17 | 19 | 188 | 40 NAMUR Rp 1/4”
10092DA/SR| 50 |57 | 117 | 137 |96.5|30| 80 | 450 | &70 | M6X10 | M8X13 | 17x17 | 22 | 192 | 40 NAMUR Rp 1/4”
10105DA/SR[57. 5| 64 | 133 | 153 [109.5/ 30| 80 | 670 |b102] M8X13 | M10X16 | 22X 22 | 26 | 258 | 40 NAMUR Rp 1/4”
10127DA/SR[68. 5] 69 | 161 | 181 | 132 |30 [80/130] & 70 [0 102] M8x13 | m1ox16 | 22x22 | 26 | 310 | 55 NAMUR Rp 1/4”
10140DA/SR| 75 | 77| 180 | 200 |137.5| 30 |80/130[ & 102| & 125 M10X 16 | M12X20 | 27X 27 | 31 | 370 | 55 NAMUR Rp 1/4”
10160DA/SR 86 |78 | 198 | 218 | 158 | 30 [80/130[ & 102] & 125/ M10X 16 | M12x20 | 27x27 | 31 | 397 | 55 NAMUR Rp 1/4”
10190DA/SR| 103 [103| 230 | 260 | 186 |30 | 130 | - |b140] - M16X25 | 36X36 | 40 | 466 | 80 NAMUR Rp 1/4”
10210DA/SR| 113 [113| 255 | 285 | 202 [30| 130 | - |®o140] - M16X25 | 36X36 | 40 | 502 | 80 NAMUR Rp 1/4”
10240DA/SR| 129 [129] 290 | 320 | 233 [30| 130 | - |®165] - M20X 25 | 46X 46 | 50 | 607 | 80 NAMUR Rp 1/4”
10270DA/SR| 146 |146] 320 | 350 | 264 |30 | 130 | - |o165] - M20X 25 | 46X 46 | 50 | 715 | 80 NAMUR Rp 1/2"
—45- Http://www.cn-hawks.com




Certificate for receipt of Technical Documentation
Directive 94/9/EC Annex VIII paragraph 3

QUALITY SYSTEM CERTIFICATE e
Thi is 1o Centify that the Quality Managemem Syseem of
FENGHUA YUANDONG AUTOQ PARTS €O, LTD o
ant Road

e ratarasce Ratarance

150 9001: 2008

for 1he

SiraLertification Service

1SO9001 Quality System Certificate QE}ATEX{
IR R IAE

1S09001/R = 1K &R iINIE

B R T T T B el e e )

i L RAFNE
48 40 41 4 X AR IEE

TE588T698-9

LTI

NO2010 7357072

Export Authorization Certificate

x5 A F AT GE

Http://www.cn-hawks.com

-46-




Http://www.cn-hawks.com

Overseas Sales Department

Tel: +86-574-88912193

Fax: +86-574-88935669

Email: hawks03@cn-hawks.com

Add: No. 278 Yuelin Road East, Fenghua, Ningbo, Zhejiang Province, 315500, P.R.China.

@2012 Fenghua Yuandong Auto Parts Co., Ltd. all rights reserved, reserve the rights to modify without notices.

W R & #:

B i%E:  0574-59557099

& H: 0574-88935669

B 46: hawks08@188. com

Hohb: o E AT B AL T E AR R 82785

RAMBARPTEAT TR FHAERRL A A, 0F G KRB HATEA.



